
#26-3565

AIR HOCKEY

JENSEN

Homestead





Main  cabinet
1 piece 2 pieces

 Left leg
2 pieces

Leg panel

2 pieces

20 pieces
5/16"X1-1/2" Bolt1/4"X3/4" Bolt

20 pieces
5/16"  Washer

#5 #6 #7

#1 #2 #3

#8

#4

20 pieces2 pieces

1

 Right leg Leg connector

Scorer
1 piece 20 pieces

1/4"  Washer
2 pieces

Slide Scorer

2 pieces

T4X3/4" Screw
4 pieces

#13 #14 #15 #16

#18 #19

#9 #10 #11

#20

#12

2 pieces

Fixed Seat Scorer Support

12 pieces
T3X1/2" Screw

1 piece
Allen Key

#17
4 pieces

F4X1" Screw

Pusher Puck
4 pieces4 pieces4 pieces

Leg  leveler



2

Step 1:

·Attach Leg Panel (Part #5) to Left and Right Legs (Parts #2 and #3) using six1/4 x3/4"
Bolts (#6) and six 1/4" Washers (#10). Finger tighten until all bolts are in place.
·Repeat with remaining legs and panel.

Step 2:

. Attach one leg/panel construction to Main Cabinet (#1), using 5/16" Bolts (#7) and 
5/16" Washers (#8).

6
10

5

2

3

7

8 7

8

1



3

Step 4:

Step 3:

Using two strong adults, place the table on its legs.

Attach both Slide Scorers(#13) to table with 1" Screws(#14)

10
6

17

17

17

17

4

14

13

  Attach Leg Connector (#4) to legs as shown, using four 1/4 x 3/4" Bolts (#6) and 
1/4" Washers (#10). 

Then screw in #17 leg levelers.

4



Thread Scorer cord through Scorer Support (#12) as shown. Attach Scorer 
Support to Scorer(#9) with 3 mm Screw(#15).Repeat on other side

Attach Score Supports to Fixed Seats(#11)with 3mm screws

Step 6:

Step 5:

Attach scoring unit to table,being careful to connect cables 
as shown.Use four 3/4"Screws(#16)to attach to table

4

16

16

12

12
9

11

1515

1515

11

15

15


